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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

11 168 6.2 2.3 10 61.7 1.1

12 73 15.1 4.2 20 75.4 0.5

13 86 12.8 6.3 20 63.8 0.5

14 13 2.2 1.3 10 21.5 0.1

15 2 0 0 20 0 0

16 12 0.8 1.2 20 3.8 0.1

17 15449 6.5 1.2 10 65 97.5

18 5520 12.2 3.1 20 60.8 34.8

19 9886 12.9 2.8 20 64.6 62.4

20 8 2 1.5 10 20 0.1

22 7 1.7 1 20 8.6 0

23 242 6.3 1.6 10 62.7 1.5

24 138 13 3.1 20 65 0.9

25 101 12.6 2.9 20 62.9 0.6

26 8 1.9 1.2 10 18.8 0.1

27 2 1 1.4 20 5 0

28 5 0.8 0.8 20 4 0

29 15123 6.2 1.3 10 61.7 95.4

30 4471 11.7 3 20 58.4 28.2

31 10661 12.7 2.8 20 63.6 67.3

32 66 5.6 1.9 10 56.2 0.4

33 53 13.5 4.7 20 67.3 0.3

34 16 11.8 4.9 20 59.1 0.1

35 439 6.5 1.3 10 65.1 2.8

36 339 13.6 2.9 20 68.1 2.1

37 98 11.8 3.9 20 59.2 0.6

38 4 2 0.8 10 20 0

39 1 1 20 5 0

40 4 1 0.8 20 5 0
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3720UB0‐1 GCSE English Literature Unit 2A 
Higher Tier

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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14


Heroes


Answer                   and either                   or                  .


You are advised to spend about 20 minutes on                   , and about 40 minutes on             


or                   .


Read the extract on the opposite page. Then answer the following question:


How does Robert Cormier create mood and atmosphere here? Refer closely to the 
extract in your answer.	 [10]


Either,


‘Francis is just an ordinary young man who makes some bad decisions that change his 
life forever.’ How far do you agree with this statement? 	 [20]


Or,


For which character in Heroes do you have the most sympathy? Show how Robert 
Cormier creates sympathy for your chosen character.	 [20]
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An Inspector Calls 
 


Read the extract on the opposite page. Then answer the following question: 
 
Look closely at how Mr Birling speaks and behaves here. What does it reveal 
about his character to an audience at this point in the play?  [10] 
 
This question covers assessment objectives A01 (50%) and A02 (50%). 
 
0 marks Nothing written, or nothing worthy of credit. 


 
1 mark Simple, general comments – very brief, probably. 


 
2-4 marks Candidates will re-tell the extract, with, for 3/4, some discussion of 


Mr Birling as he appears here. 
 


5-7 marks At this level, candidates will select and highlight detail to support their 
discussion of Mr Birling as he appears in the extract. At the top of the 
band, discussion of selected detail will be thoughtful and thorough. 
 


8-10 marks Discussion of Mr Birling as he is shown here will be assured and 
evaluative, covering aspects such as his arrogance and overconfidence, 
with particular attention to how these are presented. Close focus on 
language/imagery will be evident in this band. 


 
'Gerald Croft is presented as a character who is neither good nor bad.' How far 
do you agree with this statement? Remember to support your answer with 
reference to the play and comment on its social, cultural and historical context. 
 [20] 
 
This question covers assessment objectives A01 (33%) and A04 (67%). 
 
0 marks  Nothing written, or nothing worthy of credit. 


 
1-4 marks  Answers will be underdeveloped and based on simple, general narrative. 


 
5-9 marks  Answers will be dependent on simple narrative with an awareness and 


some discussion of Gerald. There will be some awareness of relevant 
contextual factors, particularly at the top of this mark range. 
 


10-14 marks At this level, and particularly at the bottom of this band, answers will still 
be narrative driven, but with an increasingly secure and selective use of 
the text to support a discussion of Gerald and how he is presented. At 
the top of this band, responses will be thoughtful and thorough, with an 
increasing understanding of contextual factors and direct discussion of 
the statement at the head of the question. 
 


15-20 marks In this band, answers will be assured in their use of selected detail, and 
will have a clear sense of overview and evaluation in their consideration 
of the presentation of Gerald. There is likely to be some sensitivity in the 
discussion of his relationships with Sheila and Daisy Renton/Eva Smith, 
for instance, and confident discussion of his attitudes as shown through 
the play. There will be a clear grasp of the impact of contextual factors. 
Candidates can be equally successful in suggesting that he is good, bad 
or neither, as long as these suggestions are confidently supported. 


 
Please look for, and reward, valid alternatives. 
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WJEC

Sticky Note

Opening sentence shows some awareness of the character as he is presented in the extract.



WJEC

Sticky Note

There is an awareness of Mr Birling's ignorance but this extract is not about The Titanic and there is a lack of accurate supporting detail.



WJEC

Sticky Note

Accurate comment on selected detail. 



WJEC

Sticky Note

This response is fairly brief and has limited amounts of detail from the extract. There is an awareness of what is going on and of Birling's character but the focus is not always on detail from the extract. Band Two. 4 marks.



WJEC

Sticky Note

Possible task: Replace the Titanic comments with something more closely related to the extract itself, perhaps by selecting more detail and discussing it.












WJEC

Sticky Note

Insightful start. Birling's background is mentioned briefly and relevantly as a reason for him behaving the way he does here.



WJEC

Sticky Note

Treating the extract as a whole and building a confident analysis of Birling's role in it.



WJEC

Sticky Note

Looks closely at the structure of the piece and analyses what this shows about Birling's character.



WJEC

Sticky Note

Blending selected into a confident analysis of his character and what he says in the extract.



WJEC

Sticky Note

This is relevant background as it explains how Mr Birling's comments reveal aspects of his character.







WJEC

Sticky Note

Consistently confident understanding of character. Closely read.



WJEC

Sticky Note

A confident response that covers most aspects of the extract in quite close detail. Easily into Band Four, 8 marks.



WJEC

Sticky Note

Possible task: Is there anything to add? Look at coverage of the extract. His exchanges with Sheila?
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Heroes 
 


Read the extract on the opposite page. Then answer the following question: 
 


How does Robert Cormier create mood and atmosphere here? Refer closely to 
the extract in your answer.  [10] 
 
This question covers assessment objectives A01 (50%) and A02 (50%). 
 
0 marks  
 


Nothing written, or nothing worthy of credit. 
 


1 mark  
 


Brief responses, and simple comments on what is happening. 
 


2-4 marks  Answers will tend to be underdeveloped, with some awareness, and 
some discussion, for 3/4.  
 


5-7 marks Discussion will be more focused and supported by apt detail. For 7, 
discussion of the creation of mood and atmosphere will be thorough 
and thoughtful. 
 


8-10 marks Answers will be closely read and assured. At the top they will also be 
evaluative and analytical. Features such as the poignancy of this 
meeting between Francis and Enrico and the dark humour used 
between them at times in the extract may well be addressed with 
confidence. 


 
‘Francis is just an ordinary young man who makes some bad decisions that 
change his life forever'. How far do you agree with this statement? [20] 
 
This question covers assessment objectives A01 (33%) and A02 (67%). 
 
As with all questions of this type, candidates may approach this in different ways, as 
opinion is free, so judge according to the marking guidelines. 
 
0 marks  
 


Nothing written, or nothing worthy of credit. 
 


1-4 marks  Simple brief answers, based on a general re-telling of some relevant 
parts of the story. 
 


5-9 marks  Answers will be narrative driven, with some 
discussion/awareness/empathy for 8 – 9. 
 


10-14 marks Answers will still be narrative dependent, but with apt focus on key 
areas of the text to support the discussion of some of the choices 
that Francis makes.. For 13 – 14, answers will be thorough and 
thoughtful, building a direct response to the task. 
 


15-20 marks At this level there will be a clear focus on the task and some 
sensitive, supported discussion of Francis and some of the choices 
that he makes. There will also be an engaged and informed personal 
response to show to what extent the candidate agrees with the 
statement. This will be increasingly evaluative at the top of the band. 


 
Please look for, and reward, valid alternatives. 
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Answer                   and either                   or                  .


You are advised to spend about 20 minutes on                   , and about 40 minutes on             


or                   .
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An Inspector Calls 
 


Read the extract on the opposite page. Then answer the following question: 
 
Look closely at how Mr Birling speaks and behaves here. What does it reveal 
about his character to an audience at this point in the play?  [10] 
 
This question covers assessment objectives A01 (50%) and A02 (50%). 
 
0 marks Nothing written, or nothing worthy of credit. 


 
1 mark Simple, general comments – very brief, probably. 


 
2-4 marks Candidates will re-tell the extract, with, for 3/4, some discussion of 


Mr Birling as he appears here. 
 


5-7 marks At this level, candidates will select and highlight detail to support their 
discussion of Mr Birling as he appears in the extract. At the top of the 
band, discussion of selected detail will be thoughtful and thorough. 
 


8-10 marks Discussion of Mr Birling as he is shown here will be assured and 
evaluative, covering aspects such as his arrogance and overconfidence, 
with particular attention to how these are presented. Close focus on 
language/imagery will be evident in this band. 


 
'Gerald Croft is presented as a character who is neither good nor bad.' How far 
do you agree with this statement? Remember to support your answer with 
reference to the play and comment on its social, cultural and historical context. 
 [20] 
 
This question covers assessment objectives A01 (33%) and A04 (67%). 
 
0 marks  Nothing written, or nothing worthy of credit. 


 
1-4 marks  Answers will be underdeveloped and based on simple, general narrative. 


 
5-9 marks  Answers will be dependent on simple narrative with an awareness and 


some discussion of Gerald. There will be some awareness of relevant 
contextual factors, particularly at the top of this mark range. 
 


10-14 marks At this level, and particularly at the bottom of this band, answers will still 
be narrative driven, but with an increasingly secure and selective use of 
the text to support a discussion of Gerald and how he is presented. At 
the top of this band, responses will be thoughtful and thorough, with an 
increasing understanding of contextual factors and direct discussion of 
the statement at the head of the question. 
 


15-20 marks In this band, answers will be assured in their use of selected detail, and 
will have a clear sense of overview and evaluation in their consideration 
of the presentation of Gerald. There is likely to be some sensitivity in the 
discussion of his relationships with Sheila and Daisy Renton/Eva Smith, 
for instance, and confident discussion of his attitudes as shown through 
the play. There will be a clear grasp of the impact of contextual factors. 
Candidates can be equally successful in suggesting that he is good, bad 
or neither, as long as these suggestions are confidently supported. 


 
Please look for, and reward, valid alternatives. 
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Candidate C



WJEC

Sticky Note

An accurate summary of the character with appropriate reference to context.







WJEC

Sticky Note

Some accurate, detailed support for a discussion of Gerald in the early part of the play, suggesting he is 'good' in line with the question. Some more general, but relevant, contextual background.



WJEC

Sticky Note

Sensitive discussion of Gerald's actions seeing that they could be considered 'bad' but also caring dependent on viewpoint.







WJEC

Sticky Note

The arguments about Gerald are developed by references to events and a range of detail.



WJEC

Sticky Note

Useful linking of a judgment of Gerald's actions to the contextual background in which they are presented.



WJEC

Sticky Note

Some engaged analysis of his actions here.







WJEC

Sticky Note

Some appreciation of the writer's intent linked to more contextual comments.



WJEC

Sticky Note

Some overview is brought in, perhaps less directly related to the exact question here though.



WJEC

Sticky Note

Ends sensibly by returning to a direct response to the terms of the task.



WJEC

Sticky Note

A confident response at times, with some sensibility to various interpretations of the character's actions.  Useful references to context help to justify the judgments made.  Band Four. 16 marks.












WJEC

Sticky Note

Starts with a direct attempt to answer the question. Identifies a mood and gives some support.



WJEC

Sticky Note

Awkward is a useful word to describe the atmosphere here.



WJEC

Sticky Note

There is some insight here in seeing why Francis turns away.



WJEC

Sticky Note

Comments here are more straightforward but show an understanding of some of the feelings shown by Francis.



WJEC

Sticky Note

A sound response with some occasional insights and a sensible level of detail. Band three. 6 marks.



WJEC

Sticky Note

Possible task: Has anything been missed? What about the presentation of Enrico and how that adds to the mood and atmosphere?
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Heroes 
 


Read the extract on the opposite page. Then answer the following question: 
 


How does Robert Cormier create mood and atmosphere here? Refer closely to 
the extract in your answer.  [10] 
 
This question covers assessment objectives A01 (50%) and A02 (50%). 
 
0 marks  
 


Nothing written, or nothing worthy of credit. 
 


1 mark  
 


Brief responses, and simple comments on what is happening. 
 


2-4 marks  Answers will tend to be underdeveloped, with some awareness, and 
some discussion, for 3/4.  
 


5-7 marks Discussion will be more focused and supported by apt detail. For 7, 
discussion of the creation of mood and atmosphere will be thorough 
and thoughtful. 
 


8-10 marks Answers will be closely read and assured. At the top they will also be 
evaluative and analytical. Features such as the poignancy of this 
meeting between Francis and Enrico and the dark humour used 
between them at times in the extract may well be addressed with 
confidence. 


 
‘Francis is just an ordinary young man who makes some bad decisions that 
change his life forever'. How far do you agree with this statement? [20] 
 
This question covers assessment objectives A01 (33%) and A02 (67%). 
 
As with all questions of this type, candidates may approach this in different ways, as 
opinion is free, so judge according to the marking guidelines. 
 
0 marks  
 


Nothing written, or nothing worthy of credit. 
 


1-4 marks  Simple brief answers, based on a general re-telling of some relevant 
parts of the story. 
 


5-9 marks  Answers will be narrative driven, with some 
discussion/awareness/empathy for 8 – 9. 
 


10-14 marks Answers will still be narrative dependent, but with apt focus on key 
areas of the text to support the discussion of some of the choices 
that Francis makes.. For 13 – 14, answers will be thorough and 
thoughtful, building a direct response to the task. 
 


15-20 marks At this level there will be a clear focus on the task and some 
sensitive, supported discussion of Francis and some of the choices 
that he makes. There will also be an engaged and informed personal 
response to show to what extent the candidate agrees with the 
statement. This will be increasingly evaluative at the top of the band. 


 
Please look for, and reward, valid alternatives. 
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Show how Priestley uses the life and death of Eva Smith to highlight some 
aspects of society at the time the play is set.  [20] 
 
This question covers assessment objectives A01 (33%) and A04 (67%). 
 
As with all questions of this type, candidates may approach this in different ways, as 
opinion is free, so judge according to the marking guidelines. 
 
0 marks  
 


Nothing written, or nothing worthy of credit. 
 


1-4 marks  
 


Answers will be underdeveloped and based on simple narrative. 
 


5-9 marks  Answers will be dependent on simple narrative with an awareness and 
some discussion of the life and death of Eva Smith, where there may 
well also be empathy evident. Reference to context will probably be 
implicit at this level. 
 


10-14 marks At this level, and particularly at the bottom of this band, answers will 
still be narrative driven, but with an increasingly secure and selective 
use of the text. At the top of this band, responses will be thoughtful 
and thorough in their discussion of the factors affecting the life and 
death of Eva Smith, including those related to context. 
  


15-20 marks In this band, answers will be assured in their use of selected detail, 
and will have a clear sense of how Priestley presents Eva's life and 
death to highlight aspects of society. Various aspects of society such 
as class and poverty may be addressed with relevant support to 
suggest their importance. Coverage of the play will be more 
comprehensive at this level, with overview and evaluation, especially 
at the top of the band. 


 
Please look for, and reward, valid alternatives. 
 
 


  


1 9 












Candidate B



WJEC

Sticky Note

Some general reference to context in this introduction







WJEC

Sticky Note

An accurate summary of the main events for Eva Smith.



WJEC

Sticky Note

Working through each event giving reasons for them, bringing in context with some varied success.



WJEC

Sticky Note

Better contextual point here.



WJEC

Sticky Note

Some detailed support is used.



WJEC

Sticky Note

The response shows some detailed knowledge of the text and is relevant to the question asked without addressing it directly at times.  Contextual points are given but not often developed. Band three. 11 marks.



WJEC

Sticky Note

Possible task: Add some development to some of the points in this essay. Would more selected detail help earlier in the response? 












Candidate A



WJEC

Sticky Note

An awareness but so far a lack of detail.



WJEC

Sticky Note

More on task now. Chooses a relevant decision and comments upon it sensibly. 



WJEC

Sticky Note

An accurate summary, still little detail to support.







WJEC

Sticky Note

A summary of the events that happened after his key decision.



WJEC

Sticky Note

Identifies one decision.  Makes some general comments and narrates but without much detailed development or support. Band Two. 8 marks.



WJEC

Sticky Note

Possible task: Expand the answer by selecting detailed references and quotations to support the points made.
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For which character in Heroes do you have the most sympathy? Show how 
Robert Cormier creates sympathy for your chosen character. [20] 
 
This question covers assessment objectives A01 (33%) and A02 (67%). 
 
As with all such open questions, remember that comment is free, so judge according 
to the marking criteria. 
 
0 marks  
 


Nothing written, or nothing worthy of credit. 
 


1-4 marks  Simple comments based on probably patchy narrative. 
 


5-9 marks  Answers will be dependent on fairly simple narrative with an 
awareness of, and some discussion of, the chosen character with, 
probably, empathy at the top of this mark range.  
 


10-14 marks Candidates will use a sound knowledge of the text to support their 
discussion of the chosen character which will become increasingly 
thoughtful and thorough at the top of this band. 
 


15-20 marks Discussion of the chosen character will be assured and evaluative, 
and the issue of presentation to create sympathy will be addressed 
with increasing assurance, through overview as well as through 
direct reference, and with increasing sensitivity.  


 
Please look for, and reward, valid alternatives. 
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WJEC

Sticky Note

Starts by summarising the subtext but clearly linked to mood and atmosphere. Brings in some specific detail.



WJEC

Sticky Note

A sophisticated understanding of what happens here. Enrico's humour does fail, and playful is a good way to describe the attempt.



WJEC

Sticky Note

There is some sensible attention to the language choices made by the writer, linked to the idea of mood and atmosphere.







WJEC

Sticky Note

Working through the extract showing a sound understanding of the significance of each part of it.



WJEC

Sticky Note

The response is thorough but also shows some attention to language and a confident understanding that takes it into Band Four. 8 marks.



WJEC

Sticky Note

Possible task: Could a couple more language based points be found? Perhaps from earlier on in the extract?












Candidate C
























Candidate C



WJEC

Sticky Note

Interprets the task by talking about more than character. This is a completely acceptable approach.







WJEC

Sticky Note

A detailed account of valid reasons for feeling sympathy for Francis.



WJEC

Sticky Note

Developing the argument with further detail and a confident discussion.



WJEC

Sticky Note

Building a strong argument for sympathy for Francis.







WJEC

Sticky Note

Insightful on Nicole and why she turns on Francis at this point. Builds a strong case that there is sympathy to be had for both.



WJEC

Sticky Note

It's valid to consider Larry as an option and then dismiss him.



WJEC

Sticky Note

Shows an impressive knowledge across the text. This justifies the approach of looking at all the alternatives for sympathy.







WJEC

Sticky Note

The response shows confident knowledge across the text and considers various alternatives before making a final choice.  A very competent and considered response to the task set. Band Four 17 marks.



WJEC

Sticky Note

Possible task: Could the section on the veterans be expanded usefully?











